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Sum P the'zeros of the cubm polynomual
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areas of the

- two similar triangles are in the ratio 4 9. then the
e in the rauo
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Area of a sector of angle P(in degrees) of a circle with radius R s
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Three mesallic spheres of radii 6 em. 8 cm and 10 cm respectively are

melted to form a single solid sphere. The radius of the resulting sphere 15 1
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. show that any positive odd integer is of the.
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. 15; A box contains 3 blue, 2 white and 4 red marbles. II" a marble i§-._,drawn at
- random from the box, what is the probability that it will be white ?
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19. Prove that :
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T001S of the following equation -
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If aline intersects sides AB and AC of 3 AABC at D and E respectively and

oy D f\b
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:sp allel 1o BC, Prove that AB - AC
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Section - D

le gets reduced by 9 \qu;m: units, if its length s

$ and breadth 15 increased by 3 units. If we increase the

S o “ breadth by 2 units the arca is increased by 67 squarc
ength and breadth of the rectangle.
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31. Prove that the lengths of tangents drawn from an external point 10 a ¢ icle

are equal. A/l
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m“*mw.mk is a rhombus.
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Section - E

*ll with diameter 7 m is dug and the earth from digging 1s
ﬁ to form a platform 22 m by 14 m. Find the height of the
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34 The marks chtained by 30 students of Class X of a certain school in a
Mathematics paper consisting of 100 marks are presented in table below.
Find the mean of the marks obtained by the students.
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